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Fig.2  An ezampl of two graphs with same A and 14

Ap(v) B, —FBHFICEENDZ LR, u, €
Adj(u,Go) — Ag(v) & up & Adj(u, Go) — Ag(v) %7
TETER ua,up BIEET S, 2T deg(u,Go) = k'
EBL. U € Adj(u, Go),us & Adj(u,Go) £V u ¢
Adj(us, Go) £72%. k' € §(up, Go) = 3(ve, G1),u ¢
Adj(us,Go),vs € Adj(v,G1) &V deg(v/,Go) =
K,u' € Adj(us,Go) L2 BTEA ' € V(Go) B 1E
ET 3.

R v € Adji(v,G1),va ¢ Adj(v,G1) R
U §(ua, Go) = 8(va,G1),v ¢ Adj(va,G1),ua €
Adj(u, Go) &Y deg(v',G1) = deg(u,Go) = k,v' €
Adj(va, G1) E2DTER AV € V(G)) BEETS.
(Case N k=k L%

k = deg(u,Go),k € §(u,Go),u € V(Go), k
deg(v',Go),k € 0w, Go),u' € V(Go), &
deg(ua,Go),k € 8(ua,Go),ua € V(Go), k
deg(us, Go), k € 6(us, Go),uy € V(Go) THBMH
Alk,k,Go) 2 4 L7200 &l P(Go) D 2) %=X 20,
(Case2) kK DL =&

k' = deg(u,Go),k € 6(u,Go),v € V(Go) k' =
deg(u',Go),k € 6(uv,Go),u € V(Go) k =
deg(ta, Go), k' € 6(ua,Go)yua € V(Go) k =
deg(us, Go), k' € 8(us, Go),us € V(Go) THBM b
Alk,K',Go) 2 2, A(K' k,Go) 2 2 £ 729 & P(Go)
D 1) 2Rl &k,
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FEEE p(G) KX LT, #(n,p(G)) = an,
#(n=1,p(G)) = an-1, .., #(3,0(G)) = as, #(n +
L,o(G)) = a1 THBZEENT M p(G) =<
QnyGn_1,°"",03,0n4+1 > CTHET.

[#hRE 3] (L343 T AU T OB DOEA Y 57 Go & Gy
MR TH Db DLE+HEHET A(Go) = A(G:)
2 p(Go) = p(G1) 1 p(Go) = p(G1) TH 5.
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Fig.3
The disjoint — complement graphs for graphs of Fig.2
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Table.l A(G):
The adjacency degree table for the graphs of Fig.2
6: 3,3,3,3,3,3
6,3,3
6,3,3
6,3,3
6,3,3
6,3,3
6,3,3
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Table.2
p(G) : The minimum cycle table for the graphs of Fig.2
3,3,3,3,3,3,3,3,3,3,3,3

(305 6 ELAT D& & 4L, MM 7RO TT 7h6
KO DTERERY RV HD & R0 T T
BOL &I EEZ T I,

VR TEDLE, ELSFT7OWOKIL 2 Th
b, 777 ORENT 2% = 2097152 ATH 3.

0 <7< 2097151 IR LT V(G:) = V &ED,
E(G:) 2UTO X3 IcEd 5.

T/EHE\\% V = {’Uo,’Ul,Uz,’U3,U4,’l)5,’Ue} & L, ¥%
€g = (Uo,‘ul),e1 = (1)0,1)2),62 = (’01,112),
€3 = (Uo,’Ua),eq = ('Ul,'va),€5 = (1)2,1)3),
es = (vo,v4),e7 = (v1,v4), €8 = (2, v4),
e9 = (v3,v4), €10 = (vo, vs),e11 = (v1,vs),
e12 = (v2,vs), €13 = (v3,s), €14 = (v4,v5)?
e1s = (vo,vs), e16 = (v1,Vs), €17 = (v2,Vs),
€18 = (Us,ve),elg = (1)4,'06),620 = (Us,vs) &7
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